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BERRE SHSERAN EPIBBIHT HHE R SRR

£ fa1] R - MAk~T ik B % 2 B & %5 B
BRI 7,982,949
RINERBZIZE T 2 HERMESFH KR 7,982, 949
%%

;d‘ﬂgmiﬁfél:tslféﬁﬁ.ﬁniﬁw%mﬂﬁ 7,982, 949
AINERBZIZE T 2HERBHSFLRK 7,790, 450
RETER

ETE#E 415, 450

1 EHE#ES 1.00 415, 450 415, 450
=

NINOMERBERSBLTOBEH 6, 383, 150

2 HESBEEIRBEORIRERL 1.00 1,972, 050 1,972,050
R EDRET .
=

3 MERMENSAELZOBELHERD 1.00 1,194, 300 1,194, 300
REAOEE DR .
=

4 ERBETYY 1.00 1, 255, 900 1, 255, 900
=

5 MESBEINSBEDOHY HDR 1.00 1,013, 700 1,013, 700
S .
=

6 RASDEE 2.00 473, 600 947, 200
=

BEH 451, 350

T HESHER 1.00 433, 550 433, 550
=

8 NHAMEEER 1.00 17, 800 17, 800
=

e - | 540, 500

9 ERTHE 1.00 117, 400 117, 400
=

10 PRIsRE 2.00 117, 400 234, 800
=

1 RiRHeE 1.00 188, 300 188, 300
=




BEERRE

SR5E RN EPEBICH 1T HHE R SRR 2T

EERE 192, 499
EHERRE 72,499
12 EBRARE 1.00 72,499 72,499

=
MR 120, 000
13 XBREM 1.00 120, 000 120, 000

=




fefER HHSEEAMENEBICH 1T HHERR SRR LR

% g FE - KSR B4 B B2 B & & wm ZE
BRI 7,790,450 + 192, 499 7,982,949
BEEAGE 7,790, 450
BEERE 192, 499
T DR fi 7,790,450 x 53.85% ( 35% + (1 — 35% ) ) 4,195,157
SHIRE 7,982,949 + 4,195, 157 12,178, 106
—REREF 12,178,106 x 53.85% ( 35% + (1 — 35% ) ) — 6,016 6,551,894
KBS 12,178,106 + 6,551,894 18, 730, 000
BT EALE 18,730,000 x 10.00% 1,873,000
EBERN 18,730,000 + 1,873,000 20, 603, 000
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&5 :1
&7 FrEEE 14y
2 b g - BIRTE By = BHO(f ) # 5 &
HEnE
A 1.00 70, 900. 00 70, 900
FEHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
AR (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.50 45, 300. 00 113, 250
& Hi 1E%HEH - 1.00K 415, 450. 00 415, 450
&5 :2
B . MERBEEELOERIKERRE & XIS ROBET 1LY
2 b g - IRTE By = BHO(f ) # 5 &
FEHRAR (F%ET)
A 3.00 62, 200. 00 186, 600
AR (A)
A 10. 50 55, 200. 00 579, 600
HEm (B)
A 16. 50 45, 300. 00 747, 450
AR (C)
A 4.00 35, 600. 00 142, 400
g
A 10. 00 31, 600. 00 316, 000
& B 1E%HEH - 1.00K 1,972, 050. 00 1,972, 050
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53
£ MERBEILSEZOBLHEROFIECEEDRE 1Y
£ b I - BIKTiE BAL = B ® % 1 5 &
E2EETHE H))
A 3.00 62, 200. 00 186, 600
e (A)
A 6.00 55, 200. 00 331, 200
e (B)
A 9.00 45, 300. 00 407, 700
e (C)
A 4.00 35, 600. 00 142, 400
K&
A 4.00 31, 600. 00 126, 400
& i 1EZ8ER - 1.00 1, 194, 300. 00 1,194, 300
BS54
£ b I - BIKTiE BAL = B ® % 1 5 &
E2EETHE H))
A 7.50 62, 200. 00 466, 500
BEm (A)
A 7.50 55, 200. 00 414,000
e (B)
A 2.00 45, 300. 00 90, 600
e (C)
A 8.00 35, 600. 00 284, 800
& Hi 1EZ8ER - 1.00 1, 255, 900. 00 1,255, 900
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&5 :5
£ MERBELSEZOHY FOIRE 14y
2 b g - BIRTE By H = B ® % W E 5 &
FEHRAR (F%ET)
A 4.50 62, 200. 00 279, 900
AR (A)
A 4.50 55, 200. 00 248, 400
HEm (B)
A 6. 00 45, 300. 00 271,800
AR (C)
A 6. 00 35, 600. 00 213, 600
& Hi 1E%HEH - 1.00K 1,013, 700. 00 1,013, 700
&S5 :6
£2%  RESDEE EED)
2 b g - IRTE By H = B ® W E 5 &
FEHRAR (F%ET)
A 2.00 62, 200. 00 124, 400
AR (A)
A 2.50 55, 200. 00 138, 000
HEm (B)
A 2.00 45, 300. 00 90, 600
AR (C)
A 2.50 35, 600. 00 89, 000
g
A 1.00 31, 600. 00 31, 600
& B 1YEZHEH - 1.00[E 473, 600. 00 473, 600
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E5:1
£ b I - BIKTiE BAL = B ® % 1 5 &
E2EETHE H))
A 1.50 62, 200. 00 93, 300
e (A)
A 2.50 55, 200. 00 138, 000
BEm (B)
A 2.50 45, 300. 00 113, 250
e (C)
A 2.50 35, 600. 00 89, 000
& Hi 1EZ8ER - 1.00 433, 550. 00 433, 550
5:8
£ NERREEER 1Y
£ b R - BIKTE BAL = B ® % 1 5 &
e (C)
A 0.50 35, 600. 00 17, 800
& i 1EZ8ER - 1.00 17, 800. 00 17, 800
E5:9
£ . BAHE HZEPD)
£ b R - BIKTE BAL = B ® % 1 5 &
E2EETHEH))
A 1.00 62, 200. 00 62, 200
BEm (A)
A 1.00 55, 200. 00 55, 200
& Hi {EZ8ER - 1.00E 117, 400. 00 117, 400
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&5 :10
& PRERE 1mHY
2 b g - BIRTE By = B O ® % # 5 &
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
& Hi 1YEZHER - 1.00[E 117, 400. 00 117, 400
&5 11
21 EW|E 1mHY
2 b g - IRTE By = B O ® # 5 &
HEnE
A 1.00 70, 900. 00 70, 900
FEHRAR (F%ET)
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55,200
& Hi 1YEZHEH - 1.00[E 188, 300. 00 188, 300
&= 12
&% EHARE IEE=D
2 b g - BIKTE By = B O ® # 5 &
EXRARE
= 1.00 72, 499. 00 72, 499
& Hi 1E%HEH - 1.00K 72, 499. 00 72,499
&= .13
2% EBHRRA IEE=D
2 b g - BIRTE By = B O ® % # 5 &
EBHRERERE
= 1.00 120, 000. 00 120, 000
& Hi 1E%HEH - 1.00K 120, 000. 00 120, 000




